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BOARD QUESTION PAPER: NOVEMBER 2020

English Kumarbharati

Time: 3 Hours

Q.1

Q.2

(A)
(A1)

1.

(A)
(A1)

(ACTIVITY SHEET)

C Section I: Language Study >

Do as Directed (any four):

Make a meaningful sentence of your own using the following phrase:
‘drop out’

Pick out the present participle from the following sentence:
His eyes were shining.

Fill in the blank with the proper form of the verb given in the bracket:
Either of the two ..., guilty. (is/are)

Form past participle in which the last letter is doubled.

Complete the word chain of adjectives:
Small, 1 ,

9

Do as Directed (any two):

Begin the following sentence with: Our inaction .......
Children are questioning our inaction.

Make two sentences of your own to show the difference of Homograph:
“fine’

Change the following sentence into indirect speech:
“Are you still hungry?” I asked her. She said, “Yes, [ am.”

Do as Directed (any one):

Pick out the modal auxiliary and state its function:
Lack of rain could cause drought.

Make two sentences by using the given word as a noun and as a verb without changing
its form:
Water

Section II: Textual Passages
(Reading SKkills, Vocabulary and Grammar)

Read the following passage and do the given activities:

Four things found in nature.

We went to a rocky beach and saw the spread of the majestic ocean and the rocks

alongside, carved, sculpted and shaped by the water. Water is so gentle, rock so hard, yet, as the
water flows over it every day, for years, the rock gives in. It takes the shape that the water
commands. Our problems are so colossal and we are so small, yet if we persist...
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We saw small bits of grass peeping through the small cracks in a concrete pavement. It
left us thinking : however impossible things may look, there is always an opening...

We saw a tree bare of all leaves in the cold winter months. We thought its chapter was
over. But three months passed, spring set in and the tree was back to its green majesty once
again, full of leaves, flowers, birds and life. What if we too had the conviction that, however
difficult things are right now, it will not remain so for ever. Remember, this too shall pass.

(A2) Mention what you learn from the following:
1. Bits of grass peeping through the small cracks .................... .
ii.  Tree bare in winter blooms in spring .................... .

(A3) Match the words with their meanings:

‘A’ ‘B’
1. Majestic a. | Huge/massive
il. Persist b. | Grand
iii. | Colossal c. | Firm belief
iv. | Conviction | d. | Continue

(A4) Do as Directed:
i. It takes the shape of water.
(Add a question tag)

ii. = We saw small bits of grass.
(Pick up the verb and state whether it is transitive or intransitive verb)

(AS) How do you face difficulties in life?
(B) Read the following passage and do the given activities:

(B1) Complete the following sentences using word/words from the passage:
1. Hemingway’s novel is based on ......................... .

ii.  The novel was published in ......................... /
iii.  During the First World War Hemingway worked for ......................... .

iv.  Hemingway had experience of fishingin ......................... .

Hemingway’s novel is based on real events and it also draws heavily on his own life. He
had experience of fishing in the Cuban waters and like the old man he was also a fan of baseball.
He worked for the Red Cross during the First World War and was injured by shrapnel when he
was in Italy. Hemingway always talks about the need to struggle against defeat or death and how
determination and endurance can help one to win in this struggle. The old man is at the end of the
novel very near death, but we know that the story of his suffering and loss will live on in the
memories of the people of his village. Ultimately his story becomes one of triumph because the
tales of his life will live on even after his death. The novel was published in 1952, when people
were trying to recover from the mass destruction wrought by the two world wars, and this tale of
endurance and ultimate triumph immediately struck a chord with the readers.

(B2) Two things which Hemingway always talks about:
1.
il
(B3) 1. Add suffix to make adjectives:
1. injury
il. memory
2. Write the synonyms from the passage for the following words:
1. victory
il tolerance
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(B4) Do as Directed:
1. Ultimately his story becomes one of triumph.
(Rewrite the sentence in present perfect tense)

ii.  He was injured during the First World War.

(Frame a Wh-question to get the underlined part as an answer)

(B5) Would you prefer reading a book or watching an animated film? Justify your answer.

C Section III: Poetry

)

Q.3 (A) Read the following extract and do the given activities:

(A1) Complete the web chart with the information from the extract:

Things that can
help you to

achieve success

confidence and stern for tenacity

or sickness or pain
of body and brain

with the help of GOD you’ll get it!

If neither cold poverty, famish or gout

If you simply go after that thing that you want with all
of your capacity, strength and sagacity, faith, hope and

can keep you away from the thing that you want,

If dogged and grim you be size and beget it,

(A2) How can poverty keep you away from achieving your goals?

(A3) With the help of GOD you’ll get it!
(Name and explain the figure of speech)

(B) Read the following poem and write an appreciation of it with the help of the given

points in a paragraph format:

Animals

so placid and self-contain’d
I stand and look at them long and long.

the mania of owning things.

lived thousand of years ago,

Not one kneels to another, nor to his kind that

I think I could turn and live with animals, they are

They do not sweat and whine about their condition,

They do not lie awake in the dark and weep for their sins,
They do not make me sick discussing their duty to God,
Not one is dissatisfied, not one is demented with

Not one is respectable or unhappy over the whole earth.
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So they show their relations to me and I accept them,
They bring me tokens of myself, they evince
them plainly in their possession
I wonder where they get those tokens,
Did I pass that way huge times ago and negligently drop

them?
— Walt Whitman
° The title and the poet of the poem 1)
° Rhyme scheme a
° Figures of speech 1
° Central Idea/Theme ?2)
(Section IV: Non-Textual Passage)
(Reading Skills, Vocabulary, Grammar and Summary)
Read the following passage and do the given activities: [10]
Choose the correct option from the following balloons: ?2)

Ustad
Bismillah
Khan

Musical instrument with shrill unpleasant sound .................. .

The sound of shehnai began to be considered as ..................

The credit for bringing this instrument onto the classical stage goes 10 P .
Till recently it was used only in .................. .

family of professional musicians, who had access to the royal palace, decided to improve
the tonal quality of the pungi. He chose a pipe with a natural hollow stem that was longer
and broader than the pungi, and made seven holes on the body of the pipe. When he played
on it, closing and opening some of these holes, soft and melodious sounds were produced.
He played the instrument before royalty and everyone was impressed. The instrument so
different from the pungi had to be given a new name. As the story goes, since it was first
played in the Shah’s chambers and was played by a nai (barber), the instrument was named
the ‘shehnai’.

played in temples and is an indispensable component of any North Indian wedding. In the past,
the shehnai was part of the naubat or traditional ensemble of nine instruments found at royal
courts. Till recently it was used only in temples and weddings. The credit for bringing this
instrument onto the classical stage goes to Ustad Bismillah Khan.

A musical instrument called pungi, had a shrill unpleasant sound. A barber of a

The sound of the shehnai began to be considered auspicious. And for this reason it is still

(A2)

(A3)

Say why? (2)
The instrument was named as shehnai ................ .

Find words from the passage which mean: ?2)
1. high-pitched

il. regal

iii.  admired
iv.  essential.
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(A4) Do as Directed:
1. Shehnai was part of the naubat. 1
(Pick out the subject and predicate)

il It was first played in the Shah’s chambers and was played by a nai. 1
(State whether the statement is simple/compound/complex)
(AS) Which is your favourite musical instrument and why? 2)
(B) Summary Writing [05]

Write a short summary of the passage given in Q. No. 4(A) and suggest a suitable title.

‘ Section V: Writing Skills )

Q.5 Letter writing: [05]
(A) Imagine you are Ria/Rahul, residing at 103, Pragat Colony, M.G. Road, Nagpur - 15.
Attempt any one of the letter based on the given situation.

“Dengue-Death : A cause for concern.”

Al. Formal Letter A2. Informal Letter
Write a letter to the Health Officer, Write a letter to your friend Anil/Anita
Nagpur, Municipal Corporation, making him/her aware about the

Nagpur-10 requesting him to take OR| dangers of spread of dengue.

necessary preventive measures to

control the spread of dengue.

Q.6 (A) Information Transfer [05]

(A1) Read the following information and transfer it into a flow chart and suggest a suitable title:

Select juicy lemons to prepare 1 litre of lemon squash extract the juice. Then take
1 litre of water, 2 kg of sugar and half tsp of citric acid and boil the mixture till the
sugar is completely dissolved. Later add yellow food colour and 1 tsp essence and
extracted juice of lemons. Dissolve the potassium metabisulphite in a little juice and
mix it into the prepared squash. Pour the prepared squash into sterilized bottles and
allow it to cool. Seal it or close the bottles tightly. Lastly store the bottles in a cool
place away from sunlight.

Select juicy R ,| Add 2 kg of sugar
lemons to 1 litre of water

A

Boil the mixture

!

Add Potassium
Metabisulphite
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OR

(A2) Transfer the information into a paragraph:

Read the following diagram and transform it into a paragraph:

Sources of Air Pollution

|

}

|
I

}

}

Natural | |Combustion| | Industrial | | Agricultural Solvents
Smoke Pesticides
Volcanoes Smoke & foul smell Spray paints
& Forest fires Poisonous & & Fumes
gases Insecticides

(B) Attempt any one of the following:
(B1) Speech:

Prepare a speech to be delivered on ‘Environment Day’ in your school on the topic ‘Ban

on Single Use of Plastic’.

Make use of the following points:

choke pipes

endangers marine life

soil degrade

disturbs the ecological balance
encourage use of cloth/paper bag.

(B2) View-Counterview:

(A1) Expand the theme:

OR

Life of a bird is better than that of a human being

Prepare a paragraph of counterviews on the given topic.

View:
[ ]

tension free life

no bondages
no studies

no parental control
free to do anything.

(Section VI: Creative Writing )

Q.7 (A) Do any one of the following:

Expand the following idea into a paragraph of 100 words:

‘Actions speak louder than words.’

(A2) News Report:
Prepare a news report based on the following headline:
‘Heavy rains disrupt the city.’

(B)

Do any one of the following:

(B1) Developing a story:
Develop a story and suggest a suitable title. The conclusion/end is given.
........ thus they decided to speak the truth.

(B2) Narrating an experience:

Narrate an experience of your own. Begin with:

OR

OR

The day being a holiday I ....................... .
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Science

www.saiphy.com

and Technology Part- 1

Time: 2 Hours

Q.1.

Q.2.

@

1.

ii.

iii.

iv.

(B)

1i.
1il.
iv.
(A)
11.
1il.

(B)

Choose the correct option:

Total Marks: 40

The minimum velocity of the spacecraft to escape from earth’s gravitational force must be

(A) 112km/s  (B) 11.2km/s (C)  1.12 km/s (D)

The melting point of pure ethanoic acid is

(A) 17°C (B) 19°C

() 15oC (D)

0.112 km/s

27°C

The process of separation of light into its component colour while it is passing through a

medium is called
(A) Reflection
(C) Dispersion

(B) Refraction
(D) Internal reflection

The conversion of ferrous sulphate into ferric sulphate is reaction.

(A) Oxidation
(C) Electrolysis

(B) Displacement
(D) Reduction

Lithium (L1), and Potassium (K) is Dobereiner’s triad.

(A) Magnesium (Mg)
(C) Sodium (Na)

(B)  Aluminium (Al)
(D) Calcium (Ca)

Solve the following sub-questions:

State true or false:

The refractive index depends upon the velocity of light in medium.

Write the correlated answer:

Torch : Concave lens :: Camera :

Find odd man out:

Zinc, Iron, Phosphorus, Sodium.

Draw the structural formula of

Which satellite is used in educational field among INSAT and GSAT series?

CsHg.

Give scientific reasons (any two):
Star appears to be twinkling at night.
Simple microscope is used for watch repairs.

The copper vessels turn greenish and silver articles turn blackish when kept open in air for

long time.

Answer the following questions (any three):

An object takes 5 seconds to reach the ground from a height of 5 m on a planet. What is the

value of ‘g’ on that planet?
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ii.

iii.

iv.

V.

www.saiphy.com

Identify ‘A’ and ‘B’ from the following table and complete the table. Write the chemical

equation:
Limestone

A Heat

Write the modern periodic law and also give the names of ‘blocks’ in modern periodic table.
Distinguish between ‘alternating current’ and ‘direct current’.

Define specific heat capacity. Write its S.I. unit.

Answer the following (any five):

1.

ii.

iii.

1v.

Vi.

An iron ball of mass 3 kg is released from a height of 125 m and falls freely to the ground.

Assuming that the value of ‘g’ is 10 m/s’, calculate:
a. Time taken by the ball to reach the ground.
b. Velocity of the ball on reaching the ground.

An element has its electron configuration as (2, 8, 2). Answer the following:

a. What is the ‘atomic number’ of this element?

b. What is the ‘Group’ of this element?

c. To which period does this element belong?

a. Write the ‘endothermic’ or ‘exothermic’ nature of the reaction:

2KCIO; | —2>2KCl,+30, T

b. Balance the given chemical equation:

c. From given reaction, identify ‘oxidant’ and ‘reductant’:

CuO+H, ->Cu+H,0

A copper sphere of 100 g mass is heated to raise its temperature to 100°C and is released in
water of mass 195 g and temperature 20°C in a copper calorimeter. If the mass of the
calorimeter is 50 g, what will be the maximum temperature of water?

(Specific heat of copper = 0.1 cal/g°C)

a. Draw a neat labelled diagram of ‘dispersion of white light through glass prism’.
b. Which coloured ray is the least deviated?
c. Which coloured ray is the most deviated?

Complete the following table for convex lens:

Position of object Position of image Size of image Nz-lture of
image
(a) . Real and
At focus F, Point image inverted
(b) Real and
At 2F; At 2F, inverted
(c) Between F; and O On the same side (object Verv laree
(within focal length) side) 1y larg
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vil.  Observe the following diagram and answer the questions:

Anode (Graphite)

4 Cathode
Steel (Graphite lining)
tank | | Mixture of alumina,
cryolite and fluorspar
Molten -
aluminium > Outlet for molten

\<7 aluminium

Write the ‘anode reaction’.

Write the ‘cathode reaction’.

c. What is the purpose of mixing ‘cryolite’ and ‘fluorspar’ with ‘alumina’ in the
electrolytic reduction of alumina?

o e

viii. a What is the principle behind the working of satellite launch vehicle?
b. Write the formula for the escape velocity.

c. Write the long form of ‘ISRO’.

Q.4. Solve the following questions (any one): [5]
1. Observe the diagrams and answer the questions:
< +i 1= _ +
- o
® < Plug key e «— Plug key
A
A "W B =

L I«—Magnetic needle

[ J+—Magnetic needle

a Which effect of electric current is shown in the above figure?

b. What will happen if the number of electric cells is increased on the magnetic needle?

c. If the distance between the conductor and magnetic needle is increased, what will be
the effect on intensity of magnetic field?

d. If the ends of electric cell are interchanged, what will be the effect of the magnetic
needle?

e. Write the names of any fwo instruments which work on magnetic effect of electric
current.

ii.  Answer the following:
a. Draw the electron-dot structure of Methane.
b. Define Homologous series.
c. Write the [IUPAC names of the following:

(i) CH,; —CHOH—CH,
(iiiy CH,—CO—CH, —CH,

www.saiphy.com
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Board Question Paper: December 2020

BOARD QUESTION PAPER: DECEMBER 2020

Science and Technology Part - 2

Time: 2 Hours Max. Marks: 40
Q.1. (A) Choose the correct alternative from the given options: [5]
1. Water reservoir possesses energy.
(A) Nuclear (B) Thermal
(C) Kinetic (D) Potential
ii.  In mitotic division, nuclear membrane completely disappear in phase.
(A) Telophase (B) Prophase
(C) Metaphase (D) Anaphase
iii.  Genetic changes occur due to pollution.
(A) Radioactive (B) Air (C) Water (D) Soil
iv.  In human, sperm production occurs in the organ.
(A) Seminal vesicle (B) Testes
(C) Prostate gland (D) Cowper’s gland
V. Which sanctuary of Assam is under threat due to dams and indiscriminate use of water?
(A) Tadoba (B) Kaziranga (C) Manas (D) Sundarban
(B)

Q.2.

ii.
iii.

iv.

(A)
1.
ii.
(B)
i.
ii.

Answer the following sub-questions as per given instruction: [5]

Name the locomotory organ of animal shown in the above figure.
Find the correct co-relation:

Spirogyra: Fragmentation :: Planaria :

Write whether the following statement is True or False:

DNA fingerprinting is mainly useful in Forensic Sciences.

Write the molecular formula:
4% acetic acid (Vinegar).

Which molecules are necessary for the formation of plasma membrane?

Give scientific reasons (any fwo): [4]
While performing the exercise, we feel tired.

Hydroelectric energy, solar energy and wind energy are called renewable energies.

Microbial enzymes are used instead of chemical catalysts in chemical industry.

Answer the following questions (any three): [6]
Distinguish between Aerobic respiration and Anaerobic respiration (any two points).

Write a short note on Sacred groves.

Explain the term:

Modern technology of reproduction IVF.
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iv.
V.
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How is Balanoglossus connecting link between chordates and non-chordates?
Explain Darwin’s theory of natural selection.

Answer any five questions from the following.

1.

ii.

1.

iv.

V.

Vi.

Vil.

Viii.

(b) (©)

Identify and explain the above different types of symmetry.

Write any six factors affecting the social health.

Complete the following chart:

Substance obtained by microbial processing Roles
(a) | Citric acid
(b) | Ascorbic acid
(c) | Beta carotene
(d) | Glycolipids
(e) | Vanillin
() | Xylitol

Explain the three different levels of Biodiversity.

Observe the following figure and answer the questions:

a.
b.

What are the advantage of hydroelectric power generation?

a.
b.
c.

Hypothalamus

| I|I\/I

Identify the process in above figure and after how many days it will repeat again?
Write the names of hormones involved in this process.

Define vestigial organs.
Write name of any two vestigial organs in human body.
Explain how one human vestigial organ is functional in another animal.

What will you do in the following cases and why?
a.
b.
C.

Child of your neighbour is addicted to tobacco chewing.
You have to use free space around your home for good purpose.
Your friend has developed the hobby of snapping selfies.
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Q.4. Solve any one of the following: [5]
1. a. What is meant by disaster management? [1]

b. Classify the following activities into pre-disaster management and post-disaster
management: (2]

(i)  Identifying the pro-disaster areas.
(i1))  Quick establishment of help centre.
(iii)  Participation of preferably local people saved from the disaster in arranging the
help to victims.
(iv)  Getting special training for disaster management.
c. Complete the diagram: [2]

Necessary materials in
First-aid box

ii.  Observe the figure and answer the following questions:

Inject virus in
the plant

—_—

Virus infects
the pieces of
potato leaves

-— |
a. Identify the process given in the above figure. [1]
b. Write the importance of above process. [2]
c. Write any two benefits of Biotechnology. [2]
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BOARD QUESTION PAPER: DECEMBER 2020

History and Political Science

Time: 2 Hours Max. Marks: 40
1. (A) Choose the correct option from the given options and complete the sentences: [3]
1. It may be said that was the founder of Modern Historiography.

(A) Voltaire (B) René Descartes (C) Leopold Ranké (D) Karl Marx

2. The National Archives of India is in .
(A) Mumbai (B) Chennai (C) Delhi (D) Kolkata

3. Cook established a travel agency selling
(A) Handicrafts (B) Toys (C) Food items (D) Tourist tickets
(B) Identify the wrong pair in the following and rewrite it: [3]
1.
1. Who were the Shudras Subaltern History
ii. | Stri-Purush Tulana Feminist History
iii. | The Indian War of Independence, 1857 Marxist History
iv. | Grant Duff Colonial History
2.
i. Darpan Balshastri Jambhekar
ii. | Prabhakar Acharya P.K. Atre
iii. | Deenbandhu Krishnarao Bhalekar
iv. | Kesari Bal Gangadhar Tilak
3.
i. Historical Tourism Visit to historical places
ii. | Tourism based on special events | Visit to film festival and book exhibitions
iii. | International Tourism Visit to hill stations
iv. | Sports Tourism Visit to sports events
2. (A) Complete the following concept chart/map (any two): (4]

1. Complete the following concept chart:

Cultural Heritage

v
! v
Tangible Intangible
¥ v
v v
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Std. X: Perfect History and Political Science

2. Complete the following concept map:

3. Complete the following concept map:

f

Rock-cut Caves

Heritage
Sites in
Maharashtra

Natural
Heritage

Railway
Station

Sanctuary

|

(B) Write short notes on (any #wo):
1. Annales School

2. Sports and Movies
3. Dashavatara Theatre.

3. Explain the following statements with reasons (any tmwo):
l. Foucault called his method, the archaeology of knowledge.
2. The method of history useful in the research of many subjects.
3. It is necessary to preserve the tradition like Chitrakathi, which is on the verge of extinction.
4. Only trained persons, who are duly qualified can take up the tasks involved in the work of
conservation and preservation.

4. Read the following extract and answer the questions below:

Tamasha: Tamasha is a Persian word. It means a ‘Pleasing Sight.” Tamasha developed as an
independent art form in the 18th century, by absorbing various traits of folk theatre and classical
arts. There are two types of traditional Tamasha, Sangeet Bari and Dholakicha Phad. Dance and
music are more important than drama in a Sangeet Bari. Tamasha with drama as the main part, was
developed later. It included vag, the dramatic part, little later. The vag becomes very lively and
entertaining because of its spontaneous humour. The show begins by singing the praise of Lord
Ganesha, known as Gana. It is followed with the presentation of Gavalan. The second part of
Tamasha presents the vag. The popular plays like ‘Vichchha Mazi Puri Kara’ or ‘Gadhavache
Lagna’ are examples of the modern form of Tamasha.

1. From which language the word ‘Tamasha’ derived?
2. What are the two types of traditional Tamasha?
3. Explain the modern presentation form of Tamasha.
5. Answer the following questions in detail (any two):
1. What is the contribution of Itihasacharya V.K. Rajwade to historiography?
2. Which tasks are important in archives management?
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3. What kind of professional opportunities are available in the field of arts? Explain.
4.  Define periodicals, types and its classification.

6. Choose the correct option from the given options and complete the statements:
1. has a power to make changes in the constitution.
(A) Parliament
(B) Local self-governing institutions
(C) Legislative assembly
(D) Cooperative institutions
2. To increase agricultural production and become self-sufficient with regard to food grains
initiated.
(A) Water revolution
(B) Green revolution
(C) Industrial revolution
(D) White revolution

7. State whether the following statements are true or false. Give reasons for your answers
(any two):

1. The nature of constitution is seen as a living document.
2. Shiromani Akali Dal is a national party.
3. Alertness is required to sustain democracy.

8. (A) Explain the following concepts (any one):
1. Right to Vote
2. Election Commission

(B) Do as instructed (any one):
1. Complete the following concept map:

f

«— Regional parties in |[—
Maharashtra

!

2. Complete the following concept map:

9. Answer in brief (any one):
1. Explain the meaning of code of conduct.
2. Which problems are faced by modern workers movement?
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BOARD QUESTION PAPER: DECEMBER 2020

Geography

Time: 2 Hours

Max. Marks: 40

1. Choose the correct options and complete the sentences:
1. Brazil is famous for dance.
(A) Samba (B) Bihu
(C) Bhangda (D) Bharatnatyam
2. Populationwise, India is largest country in the world.
(A) First (B) Fifth
(C) Seventh (D) Second
3. Amazon is a large river in the world. Near its mouth /
(A) Deltaic regions are found (B) No distributaries are found
(C) Deposition of sediments occurs (D) Fishing is done
4. In India, the railway network is relatively less dense in the state of
(A) Uttar Pradesh (B) Mabharashtra
(C) Tamil Nadu (D) Rajasthan

2. Find the odd man out:
1. Crop in Brazil:

(A) Cocoa (B) Coffee
(C) Soyabean (D) Jowar
2. Main purpose of field visit:
(A) Geographical (B) Historical
(C) Entertainment (D)  Cultural
3. Forest type of Brazil:
(A) Thorny bush type vegetation (B) Evergreen forests
(C) The Himalayan forests (D)  Deciduous forests
4. Salt producing state in India:
(A) Gujarat (B) Rajasthan
(C) Bihar (D) Tamil Nadu
3. Answer the following questions in one sentence each (any four):

1. Brazil is mainly located in which hemisphere?
2. Which is the most urbanised state in India?
3. Which is the highest peak in Brazil?
4. What is sex ratio?
5. Which type of settlements are found in the North Indian plains?
4, (A) Mark the following in the outline map of Brazil and give index (any four):
1. Pantanal
2. Regions of thorny shrubs
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Pampas grassland
Coffee producing region
Northern state with high urban population (Amapa)

Manaus port.

kW

(B) Observe the given map and answer the questions given below it (any four):

N
/ .
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Questions:

What does the map show?

Name the fwo places which connect North-South Highway.

Name any two ports from Eastern coast.

Which is the southernmost port located at western coastline of India?

Name the important port of Maharashtra.

SNk W=

Give geographical reasons (any mwo):
1. Snowfall doesn’t always occur in Brazil.
2. There are fewer natural ports on the castern coast of India.
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3. In Brazil, majority of population is found in the eastern coastal areas.
4.  India receives precipitation from the North-East Monsoon winds too.

6. (A) With the help of given statistical data prepare a simple line graph and answer the following
questions: [6]
India’s Export to Brazil in Million US $

Year India’s Export
2008 3700
2009 2200
2010 4200
2011 6100
2012 5000

Questions:
1. What was the value of export in 2008?
2. Which year has the highest export value?

3. How much value of export has been increased from 2009 to 2011?
Or
(B) Read the graph and answer the following questions: [6]

Age and Sex Pyramid (India 2016)

India (2016)

Males = Females

Age Groups
13133111 851111E

20-24 |
15-19 [
10-14 I

a B3

4.0 2.(; 0.;) 20 4.0 6.0
Percentage of Population

Questions:

What does the above graph show?

In which age group population is more?

What is the class interval of the data shown on ‘Y’ axis?

In the age group of above 60 years whose population is more, male or female?
What is the percentage of female in the age group of 55 to 597

Which age group onwards population has decreased?

Sk W=

7. Answer in detail (any two): [8]
1. Prepare a questionnaire for a field visit to a sugar factory.
2. Describe in brief about the historical background of India.
3. What are the major causes of degradation of forest in India and Brazil?
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BOARD QUESTION PAPER: NOVEMBER 2020

Maths - |

Time: 2 Hours Max. Marks: 40

Q.l.

Q.1.

Q.2.

(A)

ii.

iii.

iv.

(B)

il.

ii.

iv.

(A)

ii.

Four alternative answers are given for every sub-question. Choose the correct

alternative and write its alphabet with sub-question number: 4]
To draw graph of 4x + 5y = 19, what will be the value of y when x = 1:
A) 4 B) 3 © 2 D) 3
What is the sum of the first 10 natural numbers?
(A) 55 B) 20 (©) 65 D) 1
From the following equations, which one is the quadratic equation?
(A) 2-3-¢ (B) xx+5)=2 (€ n-1=2n O® Led=x
X X
In the format of GSTIN there are alpha-numerals.
A 9 B) 10 © 16 (D) 15
Solve the following subquestions: [4]

For simultaneous equations in variable x and y, if D, = 25, D, = 40, D = 5, then what is the
value of x?

Find the first term and common difference for the following A.P:

127, 135, 143, 151, .........

A die is rolled then write sample space ‘S’ and number of sample point n(S).

If > fidi =108 and Y fi =100, then find d=?

Complete the following activities and rewrite it (any two): [4]
Activity:

3 2

‘ ‘ =3 x| | | | x4

45

One of the roots of quadratic equation 5m® + 2m + k = 0 is —% .

Complete the following activity to find the value of k.
Activity:

7 . . .
s is a root of quadratic equation

Sm’+2m+k=0

www.saiphy.com



iil.

Q2. (B)
i
ii.
ii.
iv.
V.

Q3. (A)
i.

ii.

www.saiphy.com

Putm= |:| in the equation
7 2
SX(_EJ +2><|:| +k=0
(5
5
k=[]

Complete the activity to prepare a table showing the co-ordinates which are necessary to draw
a frequency polygon:

Class 18-19 19-20 20-21 I:I

Class Mark 18.5 19.5 |:| 21.5

Frequency 4 |:| 15 19

Co-ordinates of point |:| (19.5,13) | (20.5,15) | (21.5,19)

Solve the following sub-questions (any four):
Sum of two numbers is 7 and their difference is 5. Find the numbers.

Solve the quadratic equation by factorisation method:
2 —

X +x-20=0

Find the 19th term of the following A.P.:

7,13,19,25,........ .

For the following experiments, write sample space ‘S’ and number of sample points n(S):
Two digit numbers are formed using digits 2, 3 and 5 without repeating a digit.

The following table shows causes of noise pollution. Find the measure of central angles for
each, to draw a pie diagram:

Construction Traffic Aircraft take offs Industry

10% 50% 15% 25%

Complete the following activity and rewrite it (any one):
In an A.P. the first term is —5 and last term is 45. If sum of ‘n’ terms in the A.P. is 120, then
complete the activity to find n.

Activity:

i=St=[ [S=[ ]
Sn: [t1+|:|]
] =% [-5 + 45]

240=n><|:|
n=[_]

A card is drawn from a well shuffled pack of 52 playing cards.
Complete the activity to find the probability of the event that the card drawn is a red card.

(SR =)

Activity:

‘S’ is the sample space.

n(S) =52

Event A: Card drawn is a red card.

Total number of red cards = |:| hearts + |:| diamonds

A= |
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ii.

iil.

iv.
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p(A) = L

n(S)

p(A) = —gl
pA=[ ]

Solve the following subquestions (any two): [6]
Solve the following simultaneous equations graphically:
x+ty=5x-y=1.

Solve quadratic equation using formula method:
Sm’+ 13m+8=0.

A retailer sold 2 tins of lustre paint and taxable value of each tin is ¥ 2,800. If the rate of GST
is 28%, then find the amount of CGST and SGST charged in the tax invoice.

Time allotted for the preparation of an examination by some students is shown in the table.
Draw a histogram to show this information:

Time (minutes) No. of Students
60-80 14
80-100 20

100-120 24
120-140 22

Q.4. Solve the following subquestions (any two):

i

ii.

iii.

If one root of the quadratic equation ax’ + bx + ¢ = 0 is half of the other root, show that,

dac

b=
=

Bhujangrao invested ¥ 2,50,590 in shares of F.V. ¥ 10 when M. V. is ¥ 250. Rate of brokerage

is 0.2% and GST is 18%, then find:

a. the number of shares purchased,
b. the amount of brokerage paid, and
c. GST paid for the trading.

The following table shows frequency distribution of number of trees planted by students in

the school:
No. of Trees Planted No. of Students
0-10 30
10-20 70
20-30 100
30-40 70
40-50 40

Find the mode of trees planted.

Q.5. Solve the following subquestions (any one):

1.

ii.

Six faces of a die are as shown below:

A B C

D E

O

8]

3]

If the die is rolled once, find the probability of event ‘M’ that ‘English vowel appears on
upper face’.

Construct any one linear equation in two variables. Obtain another equation by interchanging
only coefficients of variables. Find the value of the variables.
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BOARD QUESTION PAPER: NOVEMBER 2020

Maths - I

Time: 2 Hours Max. Marks: 40

Q.1. (A)

1.

(B)
1.

For each of the following sub-question four alternative answers are given. Choose the

correct alternative and write its alphabet: 4]
AABC ~ APQR and £A =45°, £Q =87°, then £C = .
(A) 45° (B) 87° (C) 48° (D) 90°

£PRQ is inscribed in the arc PRQ of a circle with centre ‘O’.
If ZPRQ = 75°, then m(arc PRQ) =
(A) 75° (B) 150° (C) 285° (D) 210°

A line makes an angle of 60° with the positive direction of X-axis, so the slope of a line is

1 3 1
A) — B) — C 3 D) —
@ 5 ® © 3 ) -
Radius of a sector of a circle is 5 cm and length of arc is 10 cm, then the area of a sector is
(A) 50 cm’ (B) 25cm’ (C) 25m’ (D) 10 cm?
Solve the following sub-questions: (4]
A
B C
D

In the above figure, seg AB L seg BC and seg DC L seg BC.
If AB =3 cm and CD =4 cm, then find M
A(ADCB)
In cyclic LJABCD, £B = 75°, then find £D.
Point A, B, C are collinear. If slope of line AB is —% , then find the slope of line BC.

If 3 sin 6 = 4 cos 0, then find the value of tan 6.
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[4]

Q.2. (A) Complete the following activities and rewrite it (Any two):
1. A

C

B
In AABC, seg DE || side BC. If AD = 6 cm, DB = 9 cm, EC = 7.5 cm, then complete the

following activity to find AE.
Activity: In AABC, seg DE || side BC ..... (given)

C B
In the above figure, chord AB and chord CD intersect each other at point E. If AE =15, EB = 6,
CE = 12, then complete the activity to find ED.

Activity:
Chord AB and chord CD intersect each other at point E ...... (given)

CExED=AE xEB ..... D
DxEDzleé

ED:Q
12
ED=|:|

3. If C(3, 5) and D(-2, -3), then complete the following activity to find the distance between

points C and D.
Activity:
Let C(3, 5) = (xl,yl), D(—2, —3) = (Xz, yz)

CDh= \/(xz —|:|)2 +(y, - )2 .... (formula)
CD = \/(—2—[|)2 +(-3-5)
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cp= [ 64
co= ]

B.  Solve the following sub-questions (Any four): [8]
1.  AABC ~ APQR, A(AABC) = 81 cm?, A(APQR) = 121 cm’.
If BC = 6.3 cm, then find QR.
2. In APQR, 2P = 60°, 2Q =90° and QR = 6+/3 cm, then find the values of PR and PQ.
3. Find the slope of a line passing through the points A(2, 5) and B(4, —1).

4.  Draw a circle with centre ‘O’ and radius 3.2 cm. Draw a tangent to the circle at any point P on
it.
5. Find the surface area of a sphere of radius 7 cm.
Q.3. A. Complete the following activities and rewrite it (Any one): [3]
1. P
=
Q S R
In APQR, seg PS 1 side QR, then complete the activity to prove PQ* + RS* = PR* + QS”.
Activity:
In APSQ, £PSQ = 90°
PS*+QS*=PQ”....... (Pythagoras theorem)
PS’=PQ* - [ ]......... @)
Similarly,
In APSR, 2PSR = 90°
PS* + |:| =PR*......... (Pythagoras theorem)
PS?=PR* [ |........ 1)
PQ* - |:| = —RS%........ from (I) and (II)

PQ’+ [ [=PR*+QS’

2. Measure of arc of a circle is 36° and its length is 176 cm. Then complete the following
activity to find the radius of circle.
Activity:
Here, measure of arc = 0 = 36°
Length of arc=7/=176 cm

Length of arc (/) = % x |:| ....... (formula)

|:| 36 22
=" x2x=Z xr
360 7

176:Lxﬁ Xt
7

[
_176x| ]

I'_
44

r=|:|X70

Radius of circle (r) = |:| cm
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Q.5.

ii.
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Solve the following sub-questions (Any two): [6]
Prove that, “The ratio of the intercepts made on a transversal by three parallel lines is equal to the
ratio of the corresponding intercepts made on any other transversal by the same parallel lines.”

Draw a circle with centre ‘O’ and radius 3.4 cm. Draw a chord MN of length 5.7 cm in it.
Construct tangents at points M and N to the circle.

Prove that:
1

———— =sec O +tan 0.
secO—tan0

Radii of the top and base of frustum are 14 cm and 8 cm respectively. Its height is 8 cm. Find
its curved surface area.(m = 3.14)

Solve the following sub-questions (Any two): [8]
A
B [ 1
P D C

In AABC, £BAC = 90°, seg AP L side BC, B-P-C. Point D is the mid-point of side BC, then
prove that 2AD” = BD* + CD”,
A

C

In the above figure, chord AB = chord AD. Chord AC and chord BD intersect each other at
point E. Then prove that:
AB’= AE x AC.

A straight road leads to the foot of the tower of height 48 m. From the top of the tower the
angles of depression of two cars standing on the road are 30° and 60° respectively. Find the

distance between the two cars.(+/3 =1.73)

Solve the following sub-questions (Any one): [3]
Let M be a point of contact of two internally touching circles. Let line AMB be their common
tangent. The chord CD of the bigger circle touches the smaller circle at point N. The chord

CM and chord DM of bigger circle intersect the smaller circle at point P and R respectively.

a. From the above information draw the suitable figure.

b. Draw seg NR and seg NM and write the two pairs of congruent angles in smaller circle
considering tangent and chord.

c. By using the property which is used in (b) write the two pairs of congruent angles in
the bigger circle.

Draw a circle with centre ‘O’ and radius 3 cm. Draw a tangent segment PA having length
/40 cm from an exterior point P.
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